23 3/16"

25 -6 3/8" C/C TRUSS

) >
" 1 - oA ; ; b " ‘ ALL BOT-{OM LATERALS E
5 3/16% 3/16 :5;< 24'~0" CLEAR ROADWAY WIDTH i3 6 3/16 0 N fi/? v ~
o9, 7 STRINGERS 6 SPACES @ 3—6" = 21-0" =g S T4 BN 7T\ AN \/ NIV 7 7
| : f}_: T i ) /
| % ™ -
3 ? NEW 5CA 3" X 9" GALVANIZED | v o e N\ \ |
GALVANIZED CORRUGATED STEEL FLOOR : X o |2 |
v ORAIL AS.TM. A-570 STEEL SHEET g A S R )
= / SECTION MODULUS 3.288 IN/FT LS ?5@&;‘%@ > ol @ FLOOR |BEAMS / \ / |
= | — ASPHALT SURFACING oL = S0 9~ \ / /
o NEW 5,?LASH,,GUARQ,/ [ 3 3/47 IN THE MIDDLE (MIN.) o 16 PCS ) ol O 4 L/
z R1/47 X120 X 487 [ 4 42" AT THE EDGES (MIN.)  — PLUG WELD PUNCHING Z L 3/47 6 X 21/2 o / NE 4 NV \ | / N/ N
= /ﬁiaﬁ%é%ﬁfg%ﬁ / AT EVERY CORRUGATION o A325 B, N, W " .- 7 > N
L% \ R RV yf/ 3/?6”/FT 3_ 16” ZFT !/ AT STRINGER BEAQ’E\’U i{ i N ‘E
| e T 7 i :
[ - o An AN o MIN
| | | wiro F ] NEW KNEE BRACE | Hi i < FREAMING PLAN
I | L | J FROM 1/2° PLATE —— %
| . ) STRINGERS o i J 'R "
Ny I T chNGR TND BEA N 7 !
= - ‘ 4 PCS ™
| i < 3/4" @ X 2 1 /2" j .
) 7 (1 -1/4" ¢ ; A325 B, N, W W24XR4 65 PCS ——NEW FLOCR e N
- < / 40 g - i | b : FIELD BOLTED
%EF\VR;??CU%:« Aé\i&k%%ﬁ EXISTING CONCRETE BEARING SEAT / NEW FLOOR BEAM 3/4” P X 72 j_/z” BEAM END PLATE ggo :@ CONNECTTONS
PLATES A325 B, N, W :
4 P ' ’ M -l ' / ) . o
347850 1/4" v Y4 U @ V10 Ji2
325 B, N, W ”~
=? 1 U2
T b N YAT " ! b
TRUSS BRIDGE SECTION VIEWS >N
© -
' L1 L3 L5 L7 \__J L9 L1 L13 L15
— 117-9 1/2”>\_‘ 5 PANELS @ 12°=3 3/8" (+-)= 61 -5 - 1179 1 /27
TOTAL CAMBER = 5/8"
. 85 ~0" C/C REARINGS
TRUSS SHOE REACTION
LIVE LOAD 41 = K ELEVATION
IMPACT g 7K
DEAD LOAD 40 < K
TOTAL 917 K
12" 86 —3 1/2" FACE TO FACE BACKWALLS
NEW B 1/2" X 8 NEW R 1/27 X 8 ¢ BRG.
ABT77, GR. 50 AS72, GR. 50 7 3/4” 85 ~0" C/C BEARINGS
12WF53 12WEB5 § TRUSS &)
= el N —— o
. i \ .
| L 5" X 3 1/2" X 3/8" | 4"X4"X1/2" Ng
| | \ ® 240" »
! _ w
o ?
1/2" PLATE * L / . / i‘ y z
AT NEW CONNECTION = s :
£ ! o /] \ % § \?\ig
] ‘Q‘-@J
e 125C50 IR
12SC35 , <
” ” i . ” [ ] ssscsces seasaenn ! Ly e M T i§ :iﬂ G N N
NEW B 3/8" X 8 NEW R 1/2" X 8 , NEW P 1/2" X 8" 2PCS | A g : ENERAL NOTES
G BEARNG . AS72 OR. 90 ‘ Ao72, R 20 | AS72. GR. 50 3/4" 6 X 2" ¢ BRGS. ALL A572 GALVANIZED TRUSS BR!DGE
119 1/2 - 12'-3 3/8 ] 12-3 3/8 A325 B, N, W ' BRIDGE DESIGNED IN COMPLIANCE WiTH
5 PANELS @ 12'-3 3/8" (+-) = 61'-5" | AASHTO HS 20-244 LOADING
- \\%\\ ALL NEW STUCTURAL STEEL TO BE
| 85'_ 0" C/C BEARINGS _ _ | ASTM AS72 GR 50 GALVANIZED STEEL
ALL WELDING PERFORMED IN COMPLIANCE
TRUSS DETAIL g{ggéﬁ%a%@ WELDING SOCIETY
— ! L P
TOTAL TRUSS STEEL WEIGHT 14.8 K CA 3 xg" 60 CoR
5 GALVANIZED CORRUGATE]
MENT DETAIL ASTM A=570 STEEL PLATE FLOOR W.TH
ABUTMENT | EDGE DAMS SECTI ON MODULUS 3. 288 IN"3/FT
12 GAGE DEEP BEAM GUARDRAIL
CALVANIZED RAIL AND HARDWARE ONLY
N J OAD ALL STRUCTURAL BOLTS TO BE ASTM A325
DESIGN DEAD 1OADS TYPE 1 GALVANIZED UNLESS OTHER NOTED
STEEL FLOOR 15 PSF
ASPHALT WEARING SURFACE 40 PSF
FUTURE WEARING SURFACE 25 PSE
NO| DATE REVISIONS BY s A e ; ,
85 -0 TRUSS BRIDGE 24°—0" ROADWAY
WELD MEMBERS TO GUSSET PLATES WITH MINIMUM 5/16 INCH OPFER-LENTZ ROAD, T.R. # 214
FILLET WELDS AT EACH END OF EACH MEMBER.
ALL GUSSET PLATES 3/8 INCHES THICK_EXCEPT AS NOTED ggs?&WA Cngijwl:%TYb %HIO
WITH SUFFICIENT FLAT AREAS 7O RESIST STRESSES AND | A DRAWING
SO SHAPED TO PRODUCE AN AESTHETC ARCHITECTURAL AG AG APRIL 1, 2002 SHEET
APPEARANCE. | . W IVE N | CHECK/DATE | FABRICATOR OPFER LENTZ
NOTE: DRAWINGS RELAT DO NOT SCALE SAF 4/1,/02 OHIO BRIDGE CORP. 1 oF 5




MATERIAL SCHEDULE

BOLT TYPE - 3/47¢ A325 TYPE 1 GALVANIZED UANTITY DESCRIPTION
BOLT CHART / QUAL
SIZE 1 PC. EXISTING TRUSS 1 — SECTION A — MALE TOP CHORD — GALVANIZED
LOCATION 1 3/4 2 2 /472020 12 3/4 3 1 pC. “XISTING TRUSS 1 — SECTION A — FEMALE TOP CHORD — GALVANIZED
EXIST S - — { HORD — GAI H7ET
- OOR BEAM TO TRUSS 06 1 PC. EXISTING TRUSS 2 — SECTION B — MALE TOP CHORD — GALVANIZED
NEE BRACE TO TRUSS 1 PC. EXISTING TRUSS 2 — SECTION B — FEMALE TOP CHORD — GALVANIZED
- 1 26 5 PCS | NEW FLOOR BEAMS—W24 X 84 @ 26'~7 1/2° WTH
KNFE BRACE TO FLOOR BgAM 79 Z END DLATES - :3_ 1/2 X 10 X 44 3/8 - UALYAN?ZQU
35 PCS | NEW INTERIOR PANEL STRINGERS — Wi2 X 30 @ 12'-2 7/8° — GALVANIZED
STRINGER TO FLOOR BEAM 168

14 PCS NEW END PANEL STRINGERS — W12 X 30 @ 12 -3" — GALVANIZED

STRINGER TO STR. END BEAM - 12 PCS | NEW KNEE BRACE ASSEMBLY

1 PCo— R 1/20 X 10, X 20,1/27 — GALVANIZED

Ut4
/\/]/ 128 PCS | NEW 5/8 © X 1 1/4” GR. SPLICE BOLT AND NUT — GALVANIZED

CYPOJOINT T TRINGERS T PC. — R 1/2) x 147 X 147 — GALVANIZED
xR JOINT TO S 28 1 PC - B 1?2 X 10" X 14" — GALVANIZED
14 PCS | NEW LATERAL RODS — 1" ROUND X 25—0" WITH 2 WASHERS & 2 NUTS — GALVANIZED
2 ©CS NEW STRINGER END BEAM — TS 4 X 4 X 3/8" @ 23'—0"— GALVANIZED
C0TAL REQ'D 8 56 432 12 PCS — ANGLE A — L 5" X 3 1/2" X 3/8" @ 67 — GALVANIZED
b 1 PC. — ANGLE C — L 4" X 4" X 3?8: g@ ’1/2: ~ GALVANIZED
- E o 38 66 454 PRPCo - ANGLE D - L 4 X 4 X 35/8 6 1/2° — GALVANIZED
_OTAL ORDeRED 14 PCS — PLATE A — R 1/27 X 77X 11 1/2" = GALVANIZED
14 PCS — PLATE B — R 1/2" X 67 X 67 — GALVANIZED
2 PCS NEW SHELF ANGLE — L 47 X 47 X 1/2” @ 24—=0" — GALVANIZED
BOLT CHART BOLT TYPE — 176 A325 TYPE 1 GALVANIZED 4 PCS | OVER ANGLE — L 5" X 3 1/2" X 3/8" @ 12'=0" — GALVANIZED
‘ SIZE 2 ASSYS.| NEW TRUSS EXPANSION BEARINGS ASSEMBLY
LOCATION 2 1/47 1 20/27 0 2 3/4 S| 31/2 4 > ASSYS.| NEW TRUSS FIXED BEARINGS ASSEMBLY
r0P CHORD TRUSS CONN 24 48 38 PCS | NEW A325 TYPE 1 GALV. B, N, W — 3/4 ¢ X 2"
66 PCS | NEW A325 TYPE 1 GALV. B, N, W — 3/4 o X 2 1/4"
BOTTOM CHORD TRUSS CONN. 64 54 / / ”
454 PCS | NEW A325 TYPE 1 GALV. B, N, W — 3/4 & X 2 1/2
34 PCS | NEW A325 TYPE 1 GALV. B, N, W — 1 8 X 2 1/2"
122 PCS | NEW A325 TYPE 1 GALV. B, N, W — 1 ¢ X 2 3/4"
TOTAL REQ'D 24 112 4 74 PCS NEW A325 TYPE 1 GALV. B, N, W — 1 2 X 47
o ta ORDERED | =4 5 4 24 PCS | NEW ANCHOR BOLT — 3/4 ¢ X 168" — GALVANIZED
T RDERE
| 8 PCS NEW ANCHOR BOLT — 1 1/4 9 X 227 — GALVANIZED
14 PCS NEW GUARDRAIL @ 12'—6" — GALVANIZED
4 PCS NEW 5/8 @ X 10" POST BOLT, NUT &, WASHER — GALVANIZED
Us UB ug ug U10 U12 _ N . |
_— 28 PCS | NEW 5/8 ¢ X 2" POST BOLT, NUT &, WASHER — GALVANIZED

58 PCS NEW 5 GA 37 X 9" BRIDGE FLOOR @ 24'-0" — GALVANIZED

L3 L5 A A o -1 -1 14 PCS | NEW EDGE DAMS — R 3/168” X 5 X 12'=0" — GALVANIZED

TRUSS 1 16 PCS | NEW SPLASH GUARD R 1/47 X 127 X 4'-0" — GALVANIZED

L & " " o " 4 PCS TLARED ENDS
" 12 PCS | NEW BEARING PLATE R 1/2" X 8" X 14" — GALVANIZED
| 2 PCS NEW BOTTOM CHORD SPLICE PLATE — R 1/27 X 107 X 67" — GALVANIZED
| 4 PCS NEW BOTTOM CHORD SPLICE PLATE — R 1/2" X 5" X 57 1/2"
L3 £5 L7 L9 L11 L13 L15
B B
TRUSS 2

TRUSS MARKING DIAGRAM

NO| DATE REVISIONS BY 85°—0” TRUSS BRIDGE 24°—(0" ROADWAY

OPFER-LENTZ ROAD, T.R. # 214
OTTAWA COUNTY, OHIO

DESIGN DRAWN DATE DRAWING
| AG AG APRIL 1, 2002 SHEET
) | _ ' CHECK/DATE FABRICATOR OPFER LENTZ
NOTE: DRAWINGS RELATIVE DO NOT SCALE SAF 4/1/02 OHIO BRIDGE CORP. 2/ OF 5




12'=3 3/8" PANEL LENGTH

26'-7 1/2° TLOOR BEAM LENI TF -
26" 217 1/2° C/C HOLES _2-5
. ; ,
~ NEW W24 X B4
Vif !
— [, — et o a4 1 s —— s A e e e — s | P e s P e e - At R el S APt et k-t e e e ""“""‘g“ —
1418 - \\\ //
\ 7
. e
g \\ //
o //
N e
2 . e
O Wl \ //
223 2 \\ 7
U] ™
e AN -~
bk \\\ ,,//
:\; \(:j N e
2 Ei /x&
~ ™
A ..
I .
R .
\\
/ S

) NEW W24 X 84 N
; _ _ — . o _ R
. — N — - .
- ANGLE CALC. = 11.36 = U526 = 27.73 = 27°-44
< 21.625

LENGTH CALC. = 21.825 = 24,43 = 24'-51/8"

COS 27.7%

26 -7 1/2"
6 5/8" 47 47 29 —6 1 /4" 47 4" 16 5/8"
A TTT
DG 3/47 3 -6 | 35 36 3-8" 36 36 2'~9 3/4
et i ot b - o i
N 2 o2 % T o 2
o 5/4 el 3/4 3/ 4 et 3 /4 U3 8t 340 3/ et 3/4 3/4 et 3/4 3/4 et 3/47 13/ 4 et 3/47
| AR s 4 o & & 4 4 e @ v @ ¢ & ¢ @ + b s 4 4
r-m—ww« ) e—m«a» & ” R - % Q“’“ - ) ¢ @ B & @m + & 4+ 4 + @ ¢ ¢ ¢
Ng 15/16" @ HOLES
) TOP FLANGE ONLY TN
~ o HOLE SPACING FOR THE NEW FLOOR BEAM
W24X84—GALVANIZED
6 REQD
— i2.=3 -
2 1 /2" | 2 -0 /2 12'-2 7/8"
- &
END PANCL NEW W12 X 30 NEW W12 X 30
SIDE ™ GALVANIZED CALVANIZED
”_m,i\,mwmidm : y ;L: y TIT
3/49,.“‘;““; 3 /4 L i MNM“\ 15160 X1 ?/4"/ 1 3/47 g 1 3/4" S 15/167 X 1 1/4" /
- 13 5 : — ; .f'i*'”f‘r“r\ unl - ” T l / 21 )
1/ 9 SLOTTED HOLES 2 1/2" 2.1/2 ™ SUOTTED HOLES 2 1/2
NEW END PANEL STRINGERS NEW INTERIOR PANEL STRINGERS
: i P WA i I i b
| 3/4" § BOLTS
¥ STRINGE 1 3/87 TRUSS GUSSET PLATE 5 5"
x fo
/\f’/\f‘“‘g ﬁ ol
26'~7 1/2° FLOOR BEAM LENGTH | g : Vo N | |
9 / = B
2'-8 217 /2 2-6 | -
N | , /
g . 114
z - h // | f!‘\ IR
- ! | T - A O -
4 27~ 44 2744 | / L
— 2z — (o OO
\ vf\ H ! o - . i
RS N . /) . KNEE BRAcE AssewmsLy |/ ol @ T
« AV /i NEW W24 X B84 e T il N T T
o = e e &\— e \\;::_ :%:/ MR HetA o8 o - f / L NI
77 = N © ‘ s
74 r A\ TOP FLANGE 8 i ! ! e «
7 bt o~ ' ‘ = o %
4 me’ 27— 44 AN o J[ lx T 203
ﬁ | i i u X
£ HOLE £ HOLE £ S e S 0 iy il
3 3 ik
M o
i /> ™ - A
EXISTING LATERAL ROD ANCHOR ILAYOUT < / !
LATERAL ROD AN N : |
ANCHOR "PLATE TYP/ 7N © ‘is
5/16" — N
'> r T o < !
< (SAME BOTH ENDS) o~ ]
NEW W24 X 84 |§§
\
\ — L —

LATERAL ROD LENGTHS

14 RODS — 17 ¢ @ 2507 WiTH 87 THREAD EACH END

:N H
\\ ?ﬁ.,
- 2" e D
) |
: 0 |
, 15/18" @
S B e HOLES
P 1/2 X 14 x 14" | & o Nl
- ; N L
CUT TRIANGULAR 1 - i
: = o = § &
A E
P 1/2 X 10 X 14 2o =~ Vs 7
13/16" @ HOLES T ‘ : / %
‘ |
N <
™ 15 _ ) ~ 10
N 1/2
NEW ENDPLATE :
L AN B B L 15/18" X 1 1/4" SLOTTED HOLE
: N
A TR TR TR N
N
| 14 1/27
NEW KNEE BRACE DETAIL
12 REQD
GALVANIZED
NO| DATE REVISIONS BY

85'-0" TRUSS BRIDGE 240"

ROADWAY

v 10° ' OPFER-LENTZ ROAD, T.R. # 214
NEW KNEE BRACE AND NEW END PLATE DETAIL
OTTAWA COUNTY. OHIO
DESIGN DRAWN DATE DRAWING
AG AG APRIL 1, 2002 SHEET
NOTE: DRAWINGS RELATIVE DO NOT SCALE sap i bes | omio mRDGE corp. | s oF s




230" S, -
1'-Q" 6 SPACES @ 3'-6" = 21'=0" (STRINGER LOCATION) | =" STRINGER g;%
T | T X
| 29" 5 SPACES @ 3'-6" = 17.-6" (ANCHOR BOLT LOCATION) 29" | N {//////;Nu 3E AN 5,
B m
<« B S -
| PLATE A OVER & PLATE B UNDER THE TUBE | - ~ N =
! E T % _____/ rr———rry i / U')
| | Lo & 1 , |
A T A > A ¢ BRC a1 Y| et iy et 7 ¢sre =
| — | i ”“ "ﬂ — | V= 7 o S =
| NEW GALVANIZED - TS 4 X 4 X 3/8 S 8 i | | >
i S ' — % ; 0
i - § i <\ /
| L ] | |
i & @ & & § & & Z S /
ot : s am— \ \§-§
/ | N\ 26'- 25’ | ANCHOR PLATE| [9
/ < \ TRUSS BRG PLATE ' |
ANGLE A B o ANGLE A |
22'-0" C/C HOLES L
. . . TRUSS—>IL_N .
NEW STRINGER END BEAM W/ - /////éé
bt ) g 5 H
GALVANIZED LATERAL ROD MM}ﬁw
@ ! LATERAL ROD ATTACHMENT @& ABUTMENT
W12X30 STRINGER §> |
"1 /4% 4 1 /20 .
2 /’? 4 E/EZ 4 /2 | |
| ¢ 'PLATE Al N
Ay o
i i - =5 . i e
f . i, { 1} . : - i ol i fg\“rw 2
g( } _ <0 !i ST ANGLE A < ::T /5 ' g "5 | | . /
r—L———J—1L——_J' - X  — 5 {‘ )j; R ! - ‘?"iz’ V% ! % ™~ < g E
N B TRINGER N\ | | L N ! |
Npiate 8 > P BRG] NIRMNGER S 0 & $lo | dy | i
PUATE i | 3 g
515 ) | | | VA2 | I
3/4" @ ANCHOR BOLTS e -
SEE ANCHOR BOLT LAYOUT «— s
2 1/2' 1 1/8" ¢ 2172
HOLES
SECTION A-A SECTION B-B ANGLE C ANGLE D
. L 4" X 4" x 3/8" L 4" X 47 x 3/87
z 2 REQ'D 2 REQ'D
O GALVANIZED GALVANIZED
12'=9 3/16” ot 12'-9 3/16"
08
, " w
3-6" 3-8 . 1'=9 -9 36 _ 3-6 2
| | ) | | | i —
) 1 !
o~ | E ’ z } ) . !
. S i? i ! ! 0110 A 5
i i - -
ot ! g 337
| 4 4 ¢ » * * | - T
QBRG o | o - - S . - - - - 5 a S—
75— 4 & + ¢ O ¢ v | @ —
1 1/en g | ANCHOR i J
ANOCHT%R BOLTS :
BOLT .
| ANCHOR BOLT LAYOUT NEW PIATE B NEW ANGLE A
1/2" PLATE L5 X 31/2" X 3/8"
14 REQD 12 WITH 1 1187 X 37 SLOTTED HOLES — EXPANSION ABUTMENT
GALVANIZED 12 WITH 1 1/716" @ HOLES — AT FIXED ABUTMENT
GALVANIZED
11 1/2" 15/16" @
HOLES L o
" 4 1/2" 4 1/2" . [, TRUSS
1 1/4" e N s s
/ % ! /4 14 5 11/8" @ |
H N " i E ’ ;
NG 2" 10 2 HOLES | o .
M e —
~ | ! @B%Lih L 0 & e s
- Gj @f L e ) 6 SPACES @ 3—6" = 21'=0" "
_y ‘ | L - " e
63 €5 - . % 1 3/45 et 3/47 (TYP) ; |
- -+ - :'ﬁ P~ @ ‘@. — o o ©° o o© o © o o o 0 o © c o E;
>y : ; o o ! 15/16" ¢ HOLES
{} {5 - - x - = | NEW SHELF ANGLE
= 24 L4 X 4x1/2"
] ;;\\ 2 REQD
NEW PILATE A ' NEW BFARING PLATE GALVANIZED
R/2" X 7T X 11 /27 R1/27 X 8" X 14" »
14 REQD 12 REQD NEW TRUSS BEARING PLATE
GALVANIZED GALVANIZED
FIXED ABUTMENT 4 — B 3/47 X 14" X 24" WITH 1 5/8" ¢ HOLES (TOP & BOTTOM RS NO| DATE REVISIONS BY =:° ' ,
ED s R 3/ | / ES ( RS) 85 -0 TRUSS BRIDGE 24’ =07 ROADWAY
EXP ABUTMENT 2 — B 3/47 X 147 X 247 WITH 1 5/8” X 4 1/2" HOLES (TOP BS)
2 — BRONZE R 1/4” X 12" X 24" WiTH 1 5/8" ¢ HOLES (MIDDLE RS) OPFER-LENTZ ROAD, T.R. # 214
2 - B 1/27 X 147 X 24" WITH 1 5/8" ¢ HOLES (BOTTOM RS) _ ’

OTTAWA COUNTY, OHIO

DESIGN DRAWN DATE DRAWING
AG AG APRIL 1, 2002 SHEET
. CHECK/DATE FABRICATOR OPFER LENTZ
NOTE: DRAWINGS RELATIVE DO NOT SCALE | - SAF 4/1/02 OHIO BRIDGE CORP. 4/ OF 5




2 5 SPACES @ 3 1/2" _ 2 00"
24-1" @ X 2 3/4" A325 BN,W ‘
12 EACH SIDE - |
ALL HOLES 1 1/16" & 1 /2" PLATE
/N e i R
- 4 & & 9 9 b )
/12wres | - - L - ) 2wrss
V_ e N U N N wg/\ /
: LA A A S 4 AN
L XN
~ \// \\-«»3-
\\ // A
61" 20 DA \\\?f” //
| , y \ NN e
72 7.5 © 3 1/2 8" 7 SP @ 31/2" 2 'y \ \ NP
E / 24 1/2" fég 24 1/2" ; 12 = 1" 8 X 2 1/g2’;AAh3H258!§,EN,W/ . / @/ \\\ /\/ .
1 1/167 9 2 e noy g S sALT ol \
__________ £ B SR e
| | i S | ] o AN
S R I - A —
TOP VIEW o o A N 7 ,
;@@@*@%@@@35@@@@@@@6}§ \m NEW U8 GUSSET PILATE
i i M)
\ o ; ; . ; ! , L » ; ) . , ; ; | i |
mmmmmmmmmmmmm | = g = e p— p— p Sl pe By megmascgs e o pa o T e e e o -
- R EEEES S RS
32 PCS - 1" 0 X 4
A325 B.N,W
< 57 1/27
2" 7 SP @3 1/2" 4 1/2" 7 SP @ 3 1/27 2"
% 54 1/ o 24 1/77 P 1/2" X 5" x 57 1/2"
% GAB % £572 GRSO
| 1 1/168" @ 772 | |
| HOLES f /
T wu- N e T T N N G T G S = il > ¥
3 | & & o O o O S P & S PO H e P - ™
v uu /ﬂmmmwwmwmmmm __________ B e \ L
i 32 PCS ~ 1" 6 X 2 3/4
1/2"
7SP @3 1/2 GAP 7SP @3 1/2" o 1 /2" X &
l 24 1/2 3{3/4”53 /4 24 1/2 BOTTOM CHORD PLATE
| ? i L | | f | 1
— )
c e e e S L S E e e E e e s ———
) o660 e e |l oooeveee [ HTP
BOTTOM VIEW | | . L
Q b & 6 6 b6 oo || 6o o e b e e b Ot
\ i | ; { i : \
| e S e e e S S *
L7-19 CONNECTION DETAIL
NO| DATE |  REVISIONS BY 65" 0" TRUSS BRIDGE 54’ - 0" ROADWAY
OPFER—-LENTZ ROAD, T.R. # 214
OTTAWA COUNTY, OHIO
DESIGN DRAWN | DATE DRAWING
AG AG APRIL 1, 2002 SHEET
) ‘ CHECK/DATE FABRICATOR OPFER LENTZ
NOTE: DRAWINGS RELATIVE DO NOT SCALE - SAF 4/1/02 OHIO BRIDGE CORP. 5 oF 5




	CLA-214-1.40-1
	CLA-214-1.40-2
	CLA-214-1.40-3
	CLA-214-1.40-4
	CLA-214-1.40-5

